		S&L Underground, Inc.		Parisi Speedway Construction Sand & Co., Inc. Gravel, Inc.		R.G. Huston Co., Inc.	Capitol Underground, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page 20140.0 - GEOTEXTILE FABRIC TYPE SAS NON-WOVEN -							
S.Y. 20219.0 - BREAKER RUN	315.00	\$2.00	\$630.00	\$2.60	\$2.50	\$3.20	\$2.30
- TON 20303.0 - SAWCUT ASPHALT	525.00	\$12.00	\$6,300.00	\$14.00	\$6.00	\$5.40	\$3.00
PAVEMENT - L.F. 20323.0 - REMOVE CONCRETE SIDEWALK & DRIVE (UNDISTRUBUTED)	28.00	\$5.00	\$140.00	\$2.70	\$3.00	\$2.50	\$2.50
S.F. 30301.0 - 5 INCH CONCRETE SIDEWALK	100.00	\$4.30	\$430.00	\$5.70	\$2.50	\$3.15	\$2.65
(UNDISTRIBUTED) - S.F.	100.00	\$7.30	\$730.00	\$6.40	\$7.50	\$7.15	\$10.30
40101.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 1 - TON	1893.00	\$14.20	\$26,880.60	\$18.00	\$19.65	\$17.00	\$21.75
40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2 - TON 40202.0 - HMA PAVEMENT 4 LT 58-28S -	2075.00	\$14.20	\$29,465.00	\$13.75	\$19.65	\$17.00	\$21.75
TON 40218.0 - TACK COAT - GAL 40231.0 - ASPHALT DRIVE & TERRACE -	891.00 424.00	\$72.50 \$3.00	\$64,597.50 \$1,272.00	\$80.00 \$3.20	\$71.40 \$3.00	\$75.76 \$3.03	\$71.40 \$3.00
S.Y. 20217.0 - CLEAR STONE 3" - TON	50.00 520.00	\$33.00 \$15.00	\$1,650.00 \$7,800.00	\$25.50 \$15.75	\$45.00 \$6.00	\$60.17 \$15.40	\$43.00 \$8.75
20218.0 - CRUSHED STONE BASE - TON 20401.0 - CLEARING - UNDISTRIBUTED -		\$14.20	\$4,118.00	\$14.50	\$6.00	\$17.00	\$21.75
I.D. 20406.0 - GRUBBING UNDISTRIBUTED -	108.00	\$31.65	\$3,418.20	\$33.50	\$31.65	\$41.60	\$20.00
I.D.	108.00	\$10.55	\$1,139.40	\$11.50	\$10.55	\$17.70	\$20.00

		S&L Underground, Inc.		Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.	R.G. Huston Co., Inc.	Capitol Underground, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
21002.0 - EROSION CONTROL INSPECTION - EACH 21011.0 - CONSTRUCTION ENTRANCE -	4.00	\$400.00	\$1,600.00	\$420.00	\$500.00	\$500.00	\$350.00
EACH 21014.0 - CLEAR STONE BERM (DITCH	1.00	\$950.00	\$950.00	\$140.00	\$350.00	\$530.00	\$600.00
CHECK) - EACH 21015.0 - STREET CONSTRUCTION	22.00	\$250.00	\$5,500.00	\$140.00	\$150.00	\$530.00	\$470.00
STONE BERM - EACH	2.00	\$250.00	\$500.00	\$150.00	\$200.00	\$300.00	\$600.00
21021.0 - SILT FENCE- COMPLETE - L.F. 21024.0 - SILT SOCK (12 INCH) -	600.00	\$2.25	\$1,350.00	\$2.70	\$3.50	\$3.50	\$2.70
COMPLETE - L.F. 21073.0 - EROSION MATTING, CLASS II,	600.00	\$4.50	\$2,700.00	\$3.20	\$8.00	\$8.00	\$4.50
TYPE C ORGANIC - S.Y. 21301.0 - REMOVE AND REPLACE	4200.00	\$4.15	\$17,430.00	\$2.40	\$4.75	\$4.75	\$4.15
MAILBOX - EACH 50201.0 - ROCK	19.00	\$230.00	\$4,370.00	\$270.00	\$230.00	\$270.00	\$300.00
EXCAVATION(UNDISTRIBUTED) - C.Y. 50211.0 - SELECT BACKFILL FOR	230.00	\$150.00	\$34,500.00	\$80.00	\$1.00	\$205.00	\$165.00
STORM SEWER - T.F. 50212.0 - SELECT BACKFILL FOR	124.00	\$0.01	\$1.24	\$1.00	\$0.10	\$0.01	\$0.01
SANTARY SEWER - T.F.	2819.00	\$0.01	\$28.19	\$1.00	\$0.10	\$0.01	\$0.01
50301.0 - 8" PVC SANITARY SEWER 50352.0 - 6 INCH SANITARY SEWER	1713.00	\$132.00	\$226,116.00	\$100.00	\$142.00	\$159.90	\$124.80
LATERAL SDR-26 PIPE - L.F. 50403.0 - 18 INCH TYPE I RCP STORM	1090.00	\$106.00	\$115,540.00	\$59.00	\$83.64	\$116.80	\$112.00
SEWER PIPE - L.F. 50463.0 - 18 INCH RCP APRON	40.00	\$80.00	\$3,200.00	\$86.00	\$59.98	\$73.70	\$74.00
ENDWALL - EACH 50404.0 - 21 INCH TYPE I RCP STORM	2.00	\$1,126.00	\$2,252.00	\$1,500.00	\$1,678.00	\$1,340.00	\$1,035.00
SEWER PIPE - L.F.	120.00	\$87.00	\$10,440.00	\$73.00	\$70.34	\$80.00	\$78.00

		S&L Underground, Inc.		Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.	R.G. Huston Co., Inc.	Capitol Underground, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50464.0 - 21 INCH RCP APRON							
ENDWALL - EACH	6.00	\$1,164.00	\$6,984.00	\$1,600.00	\$1,982.00	\$1,560.00	\$1,070.00
50701.0 - 4' DIAMETER SAS - EACH	9.00	\$4,034.00	\$36,306.00	\$5,500.00	\$5,230.00	\$4,415.00	\$3,600.00
50801.0 - UTILITY LINE OPENING (ULO)	4.00	\$590.00	\$2,360.00	\$700.00	\$700.00	\$600.00	\$615.00
90030.0 - REMOVE AND RESTORE							
DRIVEWAY WITH CULVERTS							
(DRIVEWAY AND CULVERT IN KIND) -							
EACH	6.00	\$9,660.00	\$57,960.00	\$7,300.00	\$4,500.00	\$4,680.00	\$6,160.00
90031.0 - REMOVE CLEANOUT - EACH	1.00	\$520.00	\$520.00	\$530.00	\$500.00	\$2,270.00	\$435.00
90032.0 - INSTALL AND REMOVE							
TEMPORARY DRIVEWAY WITH							
CULVERT - EACH	6.00	\$3,650.00	\$21,900.00	\$3,700.00	\$1,000.00	\$2,300.00	\$3,860.00
70002.0 - FURNISH AND INSTALL 6 INCH							
PIPE & FITTINGS - L.F.	80.00	\$80.00	\$6,400.00	\$100.00	\$148.00	\$80.20	\$106.00
70003.0 - FURNISH AND INSTALL 8 INCH							
PIPE & FITTINGS - L.F.	620.00	\$90.00	\$55,800.00	\$86.00	\$158.00	\$127.90	\$84.60
70005.0 - FURNISH AND INSTALL 12							
INCH PIPE & FITTINGS - L.F.	1130.00	\$106.00	\$119,780.00	\$100.00	\$158.00	\$144.40	\$119.00
70031.0 - FURNISH AND INSTALL 6-INCH							
WATER VALVE - EACH	5.00	\$1,600.00	\$8,000.00	\$2,500.00	\$1,872.06	\$1,360.00	\$1,450.00
70032.0 - FURNISH AND INSTALL 8-INCH							
WATER VALVE - EACH	2.00	\$2,036.00	\$4,072.00	\$3,000.00	\$2,393.14	\$1,725.00	\$1,885.00
70034.0 - FURNISH AND INSTALL 12-							
INCH WATER VALVE - EACH	1.00	\$3,325.00	\$3,325.00	\$4,900.00	\$3,800.54	\$2,895.00	\$3,650.00
70040.0 - FURNISH, INSTALL AND							
SALVAGE HYDRANT - EACH	5.00	\$4,400.00	\$22,000.00	\$4,700.00	\$5,545.41	\$3,920.00	\$4,750.00
70050.0 - FURNISH AND INSTALL 1 INCH							
SERVICE LATERALS - EACH	23.00	\$2,850.00	\$65,550.00	\$1,900.00	\$2,721.80	\$4,135.00	\$2,205.00
70101.0 - FURNISH AND INSTALL							
STYROFOAM - L.F.	24.00	\$15.00	\$360.00	\$21.75	\$20.00	\$12.55	\$15.00
70106.0 - ROCK EXCAVATION - C.Y.	30.00	\$150.00	\$4,500.00	\$80.00	\$1.00	\$150.00	\$165.00

		S&L Under	ground, Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.	R.G. Huston Co., Inc.	Capitol Underground, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
10701.0 - TRAFFIC CONTROL - LUMP							
SUM	1.00	\$3,190.00	\$3,190.00	\$2,700.00	\$3,000.00	\$2,500.00	\$3,190.00
10911.0 - MOBILIZATION - LUMP SUM	1.00	\$37,600.00	\$37,600.00	\$150,000.00	\$55,200.00	\$86,520.00	\$316,000.00
20101.0 - EXCAVATION CUT - C.Y.	2326.00	\$16.50	\$38,379.00	\$20.50	\$21.00	\$24.75	\$32.70
20221.0 - TOPSOIL - S.Y.	4200.00	\$3.10	\$13,020.00	\$9.90	\$4.50	\$6.70	\$3.10
20701.0 - TERRACE SEEDING - S.Y.	4200.00	\$2.20	\$9,240.00	\$1.90	\$1.25	\$1.25	\$2.20
21063.0 - EROSION MATTING, CLASS 1,							
TYPE A ORGANIC - S.Y.	50.00	\$1.60	\$80.00	\$6.40	\$3.00	\$3.00	\$5.00
90033 - PRUNE TREE - EACH	9.00	\$370.00	\$3,330.00	\$390.00	\$369.25	\$305.00	\$125.00
53 Items	Totals		\$1,095,704.13	\$1,109,374.65	\$1,173,010.42	\$1,333,990.61	\$1,411,974.43